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Part A: Grammar 
Directions: Questions 1-10 are incomplete sentences. Beneath each sentence you will see four words or phrases, marked (1,2,3), and (4). 
Choose the one word or phrase that best completes the sentence, then mark the correct choice on your answer sheet. 

 

1- In … 1860s, Louis Pasteur discovered that … bacteria in air caused … perishable food to go bad. 
1) –/ –/ – 2) –/ –/ the 3) the/ –/ – 4) the/ the/ – 

2- Most of … dead and injured had been passengers on … bus which crashed yesterday. 
1) – / a 2) the / – 3) – / the 4) the/ the 

3- Mary is much taller than when I last saw her. She … a lot since then.  
1) has grown  2) grows  3) is growing  4) is going to grow  

4- Which of the following is grammatically WRONG? 
1) I always listen to the radio while I’m driving. 
2) It was a great treat to go to the theater when I was a child. 
3) Cinema is different from theater in several ways. 
4) He’s worked in the radio and television all his life. 

5- All of you did a good job. You should be proud of … . 
1) them 2) us 3) yours 4) yourselves 

6- Tomorrow you’re going to leave for home. When you … at the airport, your whole family … for you. 
1) will arrive/ are waiting  2) have arrived/ have been waiting 
3) will arrive/ have been waiting 4) arrive/ will be waiting 

7- He … for five hours when I … him in the library. 
1) was studying – have seen  2) had been studying – saw  
3) was studying – had seen  4) had been studying – have seen  

8- Silver is too soft to use by … , so it is mixed with … metal to make it harder. 
1) it / the other 2) itself / another 3) it / another 4) itself/ the other 

9- I have lived in New York and Chicago, but I don’t like … city very much. 
1) neither 2) another 3) each 4) either 

10- There are several means of communication: the newspaper is one; television is … . 
1) other 2) the other 3) another 4) the another 
 

Part B: Vocabulary 
Directions: Questions 11-25 are incomplete sentences. Beneath each sentence you will see four words or phrases, marked (1,2,3) and (4). 
Choose the one word or phrase that best completes the sentence, then mark the correct choice on your answer sheet. 

 

11- Being broke as usual, I don’t assume that my rents and dues will be paid … . 
1) undoubtedly             2) smoothly  3) greatly       4) firmly  

12- I apologize for what seemed like an act of rudeness, but I explained that it had been an … action and I didn’t 
mean it. 
1) unintentional 2) actual 3) inverted 4) organic 

13- Unfortunately there was no … proof of this beyond his own memory of the previous crime scenes.  
1) negative   2) soluble   3) solid    4) futile  

14- If governments do not act quickly and decisively to … the environment, the earth will soon become uninhabitable. 
1) affect 2) join 3) quote 4) preserve 

15- This country cottage is magical; the place … memories of the happier years. 
1) evokes      2) proves 3) prowls    4) rises  

16- Whereas the 14th century noblemen had guarded their power by keeping their distance from the king, in the 
15th century the way to power lay in … to the royal family. 
1) residence 2) proximity 3) optimism 4) facility 

17- The police … that whoever killed dad was with him earlier that day.  
1) recline        2) refuse  3) recognize      4) reckon 

18- A hypothetical world situated in a different dimension of space and time than the real world is called a(n) … 
universe.  
1) sensitive           2) alternate  3) gorgeous   4) early  

19- After finishing the project successfully, his family decided to … it by going out to dinner. 
1) enable 2) celebrate 3) encourage 4) investigate 

  .آموزان عزيز سؤالاتي از آزمون گذشته در بخش گرامر براي شما در نظر گرفته شده استدانش  تخصصي  زبان انگليسي
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20- I agree with you to a certain … , but there are still a lot of points I disagree with. 
1) loss 2) extent 3) naivety 4) density 

21- Eventually, the … happened and he had a heart attack this morning. 
1) inevitable 2) admirable 3) inconvenient 4) adaptable 

22- There has been a military government since the army’s … of power six years ago. 
1) summit 2) perception 3) valor 4) seizure 

23- After finishing my education at university, I was … by a company that manufactured car parts. 
1) twisted 2) subsided 3) engaged 4) exaggerated 

24- Though unwillingly, the boy finally … he had broken the window. 
1) inclined 2) admitted 3) aspired 4) surpassed 

25- Not many people agree with the government’s … that the domestic economy will improve considerably.  
1) prevention  2) pollution  3) possession  4) prediction  
 

Part C: Word Order 
Directions: Choose the sentence with the best order for each of the following series, then mark the correct choice on your answer sheet. 

26-  
1) Beginning in the Middle Ages, composers of Western music used a system of notation their compositions will 

be performed by musicians. 
2) Beginning in the Middle Ages, composers of Western music use a system of notation their compositions so 

they could be performed by musicians. 
3) Beginning in the Middle Ages, composers of Western music use a system of notating their compositions will be 

performed by musicians. 
4) Beginning in the Middle Ages, composers of Western music used a system of notating their compositions so 

they could be performed by musicians. 

27-  
1) Dairy farming is at leading agricultural activity in the United States. 
2) Dairy farming is then leading activity agricultural in the United States. 
3) Dairy farming is a leading agricultural activity in the United States. 
4) Dairy farming is none in the United States leading agricultural activity. 

28-  
1) The firstly naval battle of the Revolutionary War was fought off the coast of Machias, Maine, on June 1775. 
2) The first naval battle of the Revolutionary War was fought off the coast of Machias, Maine, in June 1775. 
3) The first naval battle of the Revolutionary War were fought off the coast of Machias, Maine, on June 1775. 
4) The firstly naval battle of the Revolutionary War was fought off the coast of Machias, Maine, in June 1775. 

29-  
1) From 1905 to 1920, American novelist Edith Wharton has been at the height of her writing career, publishing 

of her three most famous novels. 
2) From 1905 to 1920, American novelist Edith Wharton was at the height of her writing career, publishing of her 

three most famous novels. 
3) From 1905 to 1920, American novelist Edith Wharton was at the height of her writing career, publishing her 

three most famous novels. 
4) From 1905 to 1920, American novelist Edith Wharton has been at the height of her writing career, publishing 

her three most famous novels. 

30-  
1) The Rocky Mountains were explored by four traders during the early 1800’s in decades preceding the United 

States Civil War. 
2) The Rocky Mountains were explored by four traders during an early 1800’s in decades preceding the United 

States Civil War. 
3) The Rocky Mountains were explored by four traders during an early 1800’s in the decades preceding the 

United States Civil War. 
4) The Rocky Mountains were explored by four traders during the early 1800’s in the decades preceding the 

United States Civil War. 
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Part D: Language Function 
Directions: Read the following conversation between two people and answer the questions about the conversation by choosing one of the 
choices (1,2,3) or (4). Then mark the correct choice on your answer sheet. 

 

A: We need to reserve a meeting room. But the meeting rooms are almost …31… .  
B: Please …32… to get us a place. You know we cannot reschedule the rehearsal. 
A: Sure. And I’ll …33… sure all the presentation slides are ready on the computer. 
B: Good. And don’t forget to give me the rundown on the rehearsal. 
A: No problem. Renee and I will …34… . 

31- 1) booked up 2) taken back 3) filed away 4) made up 
32- 1) drag your feet 2) put me on 3) do your best 4) get through 
33- 1) make  2) take 3) have 4) give 
34- 1) give it up 2) keep it in 3) miss it out 4) see to it 

A: Daddy, I need a new bicycle and a camera. Will you buy them for me? 
B: I’ll buy them for you. But not yet. …35… . 

35- 1) In the nick of time 2) All in good time 3) About time too 4) For old time’s sake 
A: Sunday was Mother's Day. Did you go to visit your mom?  
B: I couldn’t go to see her, but I talked to her. Hearing her voice on the phone really …36… . 

36- 1) made a living         2) made my day 3) made a loss    4) made a speech 
Sydney: Did you call Ben last night?  
John: Yes. I tried to …37… of him last night, but it was so difficult  …38… . 

37- 1) get to meet 2) get it 3) get a hold    4) get hurt  
38- 1) to get through              2) to be through  3) crashing through  4) see through  

A: I heard you and Loretta broke up! 
B: Yup! But fortunately, we parted …39…, as friends and in peace. 

39- 1) in what way      2) to provide shelter 3) on good terms  4) to put in an appearance  
Barona: Did you hear about the air traffic controllers’ strike in the USA? 
Aeron: Yes. We had to …40… to our travel itinerary because of it. 

40- 1) make a profit          2) make it through  3) make ourselves known     4) make a change  
 

Part E: Cloze Test 
Directions: Read the following passage and decide which choice (1,2,3) or (4) best fits each space. Then mark the correct choice on your 
answer sheet. 

 

How far would you travel for a good meal? If you were a humpback whale, the answer would be five 
thousand miles. These large sea animals travel at least (41)… far from their winter home off the coast of 
Columbia to their summer (42)… areas off Antarctica. The distance covered by some types of whale is 
amazing, especially when you (43)… their enormous size. The blue whale is the largest animal that has 
ever lived and it can weigh (44)… . It comes as no surprise, (45)…, to hear that ancient folk legends tell of 
sailors (46)… these creatures for islands.  

The more we find out about whales,  (47)… . Some species can (48)… their breath for more than an hour 
and dive to a (49)… of over 200 metres. They use a system of sounds (50)… as echo-location to find the fish 
they eat and they have further sounds to keep in (51)… with each other. The noises they (52)… can travel 
hundred of miles under water. Some species seem to sing complicated songs which (53)… of a number of 
separate themes, sung in a specific order which can (54)… up to half an hour or more. If you ever get 
the chance to see one of these great creatures in the wild, you will understand why they (55)… so many 
legends. 

41- 1) which 2) that                 3) much         4) a lot 
42- 1) feeding             2) dining                3) eating                     4) chewing 
43- 1) view                  2) think                   3) consider                 4) believe 
44- 1) same as thirty elephants  2) as many as thirty elephants                

3) similar to that of thirty elephants 4) as much as thirty elephants 
45- 1) nonetheless 2) therefore                3) however           4) otherwise 
46- 1) supposing      2) mixing                 3) confusing               4) mistaking 
47- 1) the more wonderful they seem 2) the more they seem wonder               

3) more wonderful they seem           4) they seem more wonderful 
48- 1) store                2) keep                    3) hold                         4) save 
49- 1) depth               2) length                  3) width                       4) breadth 
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50- 1) called              2) known                  3) referred                  4) named 
51- 1) reach              2) touch                     3) call                         4) range 
52- 1) provide           2) propose               3) process                 4) produce 
53- 1) consist           2) compose             3) include                   4) involve 
54- 1) long                2) last                        3) play                         4) give 
55- 1) had inspired 2) were inspiring 3) have inspired 4) were inspired 

 

Part F: Reading Comprehension  
Directions: In this part of the test, you will read three passages. Answer the questions about the passages by choosing the best choice (1,2,3) 
or (4). Then mark the correct choice on your answer sheet. 

 

PASSAGE 1 
Early humans probably settled all the continents except Antarctica within the short span of about 50,000 

years. Initially, humans lived in tropical areas, which contained diseases and parasites. As populations spread 
outward from the tropical areas, mortality rates declined, causing fast population growth. Over a long period 
of time, this resulted in a large population that could no longer be supported simply by finding additional 
hunting grounds. Thus began a transition from migratory hunting and gathering to migratory agriculture, 
causing a swift spread of crops across the Middle East and all of Eurasia within only 5,000 years. 

About 10,000 years ago, a new and more resourceful way of life, involving static agriculture practices, 
became the primary lifestyle of human societies. These new practices permitted a greater investment of labor 
and technology in crop production, which considerably increased the food supply. Despite this development, 
occasional migrations persisted. 

The next wave of migration began around 4000 B.C. It was encouraged by the development of seagoing 
boats using sails, and by innovative farming practices. The Mediterranean Sea was the center of a maritime 
culture that settled the offshore islands and inspired the development of long-distance trade. At the same 
time, creative farming practices altered animals, which were tamed for human use. These changes allowed 
humans to use animals for physical tasks and to consume the meat of most male newborn animals and the 
milk produced by the females. 

Both sea merchants and farmers were inherently migratory, and both struggled for power over vast 
regions. The farmers were able to populate the extensive grasslands of the Eurasian steppes and Middle 
Eastern savannahs. Yet the influence of the merchants was also expanding quickly. Their superior nutrition 
mobility gave them clear military advantages over the farmers they encountered. 

56- What does the passage mainly discuss? 
1) how agriculture has affected the way we live 
2) how sea merchants took the power over farmers 
3) how man spread throughout the world 
4) how the early man lived through diseases 

57- Which of the following is NOT indicated as encouragement for the early man to immigrate? 
1) living in tropical areas  2) new methods of sailing 
3) new farming customs  4) population growth 

58- The word “this” in line 4 refers to … . 
1) fast population growth  2) mortality rates 
3) additional hunting grounds 4) tropical areas 

59- According to the passage, the swift crop spread across all of Eurasia … . 
1) ended 5,000 years ago  2) caused static agriculture practices 
3) followed fast population growth 4) was first started in tropical areas 

60- The word “inherently” in line 17 is closest in meaning to … . 
1) impossibly 2) essentially 3) incredibly 4) commercially 

PASSAGE 2 
Certainly no creature in the sea is odder than the common sea cucumber. All living creatures, especially 

human beings, have their oddities, but everything about the little sea cucumber seems unusual. What else can 
be said about a strange animal that, among other eccentricities, eats mud, feeds almost continuously day and 
night but can live without eating for long periods, and can be poisonous but is considered a very delicious food 
at the same time? 

For some fifty million years, despite all its eccentricities, the sea cucumber has lived on its diet of mud. It 
is adaptable enough to live attached to rocks by its tube feet, under rocks in shallow water, or on the surface 
of mud flats. Common in cool water on both Atlantic and Pacific shores, it has the ability to suck up mud or 
sand and digest whatever nutrients are present. 
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Sea cucumbers come in a variety of colors, ranging from black to reddish brown to sand color and nearly 
white. One form even has bright purple tentacles. Usually, the creatures are cucumber-shaped and because 
they typically live on rocks, this shape, combined with flexibility, enables them to squeeze into cracks where 
they are safe from predators and ocean currents. 

Although they have uncontrolled appetites, eating day and night, sea cucumbers have the capacity to 
become inactive and live at a low metabolic rate, feeding sparingly or not at all for long periods, so that the 
marine organisms that provide their food have a chance to multiply. If it were not for this faculty, they would 
devour all the food available in a short time and would probably starve themselves out of existence.  

But the most spectacular thing about the sea cucumber is the way it defends itself. Its major enemies are 
fish and crabs; when attacked, it squirts all its internal organs into water. It also casts off attached structures 
such as tentacles. The sea cucumber will cut its own organs and regenerate itself if it is attacked or even 
touched; it will do the same if the surrounding water temperature is too high or if the water becomes too 
polluted. 

61- According to the passage, why is the shape of sea cucumbers important?  
1) It helps them to digest their food.   
2) It helps them to protect themselves from danger.  
3) It makes it easier for them to move through the mud.  
4) It makes them attractive to fish. 

62- The fourth paragraph of the passage primarily discusses … . 
1) the reproduction of sea cucumbers  2) the food sources of sea cucumbers  
3) the eating habits of sea cucumbers  4) threats to sea cucumbers' existence 

63- What can be inferred about the defense mechanisms of the sea cucumber?  
1) They are very sensitive to surrounding stimuli.  2) They are almost useless.  
3) They require group cooperation.  4) They are similar to those of most sea creatures. 

64- Which of the following would NOT cause a sea cucumber to release its internal organs into the water?  
1) a touch  2) food 3) unusually warm water  4) pollution 

65- The underlined word “faculty” is closest in meaning to … . 
1) maintenance 2) disaster 3) department 4) ability 

PASSAGE 3 
The victory of the Greek over the mighty Persian Empire in 490 B.C. is one of the most famous events in 

history. Darius, king of the Persian Empire, was displeased because Athens had interceded for the other 
Greek city-states in revolt against Persian domination. In anger, the king sent an enormous army to defeat 
Athens. He thought it would take drastic steps to pacify the rebellious part of the empire. 

In Athens, citizens helped to rule. Ennobled by this participation, Athenians were prepared to fight for 
their city-state. Perhaps this was the secret of the victory at Marathon, which freed them from Persian rule. 
On their way to Marathon, the Persians tried to fool some Greek city-states by claiming to have come in 
peace. The frightened citizens of Delos refused to believe this. Not wanting to abet the conquest of Greece, 
they fled from their city and did not return until the Persians had left. They were clever, for the Persians next 
conquered the city of Etria and captured its people. 

Athens stood against Persia. The Athenian people went to their sanctuaries. There, they prayed for 
deliverance. They asked their gods to expedite their victory. The Athenians refurbished their weapons and 
moved to the plain of Marathon, where their little band would meet the Persians. At the last moment, soldiers 
from Plataea reinforced the Athenian troops. 

The Athenian army attacked, and Greek citizens fought. The power of the mighty Persians was offset by 
the affection that the Athenians had for their city. Athenians defeated the Persians in archery and hand 
combat. Greek soldiers seized Persian ships and burned them, and the Persians fled. Herodotus, a famous 
historian, reports that 6400 Persians died, compared with 192 Athenians.  

66- Athens had … the other Greek city-states against the Persians. 
1) refused to help   2) wanted to fight  
3) intervened on behalf of   4) given orders for all to fight 

67- Darius took steps to … the rebellious Athenians. 
1) calm  2) weaken  3) destroy  4) talk to 

68- The participation of citizens … the Athenians. 
1) gave fear to  2) was not noticed by  3) had no effect on  4) gave strength to 

69- The people of Delos did not want to … the conquest of Greece. 
1) end  2) encourage  3) think about  4) daydream about 

70- The Athenians were … by some soldiers who arrived from Plataea. 
1) surprised  2) captured  3) welcomed  4) strengthened 
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  )شهاب اناري(  »1«ي    - 1

ي ها  كلمه. شود استفاده مي ”the“ها از حرف تعريف  دهسقبل از دهه يا 
“bacteria”  و“food” اسم جنس هستند و به حروف تعريف نياز ندارند.  

----------------------------------------------  
  )بهرام دستگيري(  »1«ي  گزينه - 2

 ”the“دهند، حرف تعريف  اي از مردم را نشان مي قبل از برخي از صفات كه طبقه
 ةكلم). :the deadها  ، مرده:the homelessخانمان  افراد بي. (رود به كار مي

“bus” پيرو وصفي معين است و با حرف تعريف  ةجمل ةبه واسط“the” آيد مي.  
----------------------------------------------  

 )زاده عليرضا يوسف(  »1«ي  گزينه - 3

از آن موقع . استبلندقدتر خيلي مري از آخرين باري كه ديدمش «: جمله ةترجم
  ».خيلي رشد كرده است

حال كامل است، بنابراين زمان هاي كاربرد  يكي از علامت ”since then“: نكته
    .صحيح است» 1« ةگزين

----------------------------------------------  
  )شيخي مرجان(   »4«ي  گزينه - 4

  هاي تفريحي  از وسايل و برنامه استفادهكه بحث در مورد  هنگامي: نكته
(“the radio”, “the theater”, …)  باشد، از حرف تعريف معين“the”  استفاده

ها يك فرم هنري يا يك پيشه  ، اما اگر منظور ما از آن)»2«و » 1«هاي  گزينه(شود  مي
  بنابراين ). »4«و » 3«هاي  گزينه(د رون باشد، بدون حرف تعريف به كار مي

“the radio” بايد به صورت » 4« ةدر گزين“radio” به كار رود.   
----------------------------------------------  

 )مرجان شيخي(  »4«ي  گزينه - 5
  ».خودتان افتخار كنيد بهبايد . شما خوب كار كرديد ةهم«: جمله ةترجم
) خودتان( ”yourselves“له، كاربرد ضمير انعكاسي با توجه به مفهوم جم: نكته

   .صحيح است
----------------------------------------------  

 )مرجان شيخي(  »4«ي  گزينه - 6
مشخصي در آينده در  ةاستمراري براي بيان عملي كه در لحظ ةاز زمان آيند: نكته

بندهايي (هاي زماني  بندكنيد كه در  دقتدر ضمن، . شود حال وقوع باشد، استفاده مي
دليل (رود  نمي ، زمان آينده به كار)شوند هاي زمان شروع مي دهنده كه با يكي از ربط
  ).»3«و » 1«هاي  نادرستي گزينه

----------------------------------------------  

  )نيلوفر كشتياري(  »2« ي گزينه - 7
، “)استمراري(كامل  ةتگذش+  when + ساده ةگذشت”با توجه به ساختار : نكته
   .صحيح است» 2« ةگزين

----------------------------------------------  

 )بهرام دستگيري(  »2« ي گزينه - 8
تر از آن است كه به تنهايي مورد استفاده قرار گيرد،  نقره نرم«: جمله ةترجم

  ».تر شود شود تا سخت بنابراين با يك فلز ديگر آميخته مي
 ةكه فاعل كاري را به تنهايي انجام دهد، مفعول بعد از حرف اضاف هنگامي: نكته

“by” آيد تأكيدي مي/ به صورت ضمير انعكاسي .  
“another”  كه  است، در حالي» ديگر«به معني“the other”  آخرين «به معني

 ”another“با توجه به مفهوم جمله، . باشد مي» مورد از گروهي كه مدنظر است
   .صحيح است

  )مرجان شيخي(  »4« ي هگزين - 9
يك از اين دو  ام، اما از هيچ من در نيويورك و شيكاگو زندگي كرده«: جمله ةترجم

  ».آيد شهر زياد خوشم نمي
منفي در مورد هر دو چيز يا هر دو  ةكه يك جمل دهد مينشان  ”either“: نكته

   .كند نفر صدق مي
----------------------------------------------  

 )نسرين خلفي(  »3« ي ينهگز -10

كه  اشاره به يك مورد ديگر از كل دارد، در حالي ”another“دقت كنيد كه ضمير : نكته
“the other(s)” بعد از   .كند چه از كل باقي مانده اشاره مي به آن“other”  احتياج به

   .آيد نمي ”the“تعريف  حرفبا  ”another“. اسم داريم
------------------------ ----------------------  

 )سپيده عرب(  »2« ي گزينه -11

به يم ها ها و بدهي كنم كه اجاره پول؛ گمان نمي مثل هميشه بي«: ترجمة جمله
  ».شوندپرداخت راحتي 

  راحتي به) 2            شك  بدون) 1
 صورت محكم به) 4  بسيار             ) 3

----------------------------------------------  

 )عبدالرشيد شفيعي(  »2« ي گزينه -12

مانست  ادبي مي من به خاطر چيزي كه به عملي از روي بي«: ترجمة جمله
، اما توضيح دادم كه عملي غيرعمدي بود و من اين منظور را كنم ميعذرخواهي 

  ».نداشتم
  واقعي) 2  يغيرعمد) 1
  ارگانيك، اندامي) 4  برعكس) 3

----------------------------------------------  

 )سپيده عرب(  »2« ي گزينه -13

ة در پس حافظ) جنايت(از اين  حكميسفانه هيچ مدرك مأمت«: ترجمة جمله
  ».وجود نداشتهاي جنايت قبلي  از صحنهخودش 

  پذير               انحلال )2  منفي         ) 1
  بيهوده) 4      محكم، قابل اطمينان) 3

----------------------------------------------  

 )عبدالرشيد شفيعي(  »2« ي گزينه -14

دن از محيط ها به سرعت و قاطعانه به منظور حفاظت كر اگر دولت«: جملهترجمة 
  ».زمين به زودي غيرقابل سكونت خواهد شد زيست اقدام نكنند، كرة

  )به(پيوستن ) 2  )بر(تأثيرگذاشتن ) 1
   )از(حفاظت كردن ) 4  قول كردن نقل) 3

----------------------------------------------  

 )سپيده عرب(  »2« ي گزينه -15

هايي كه  است؛ اين مكان خاطرات سال سحرآميز روستايية اين كلب«: ترجمة جمله
  ».آورد شادتر بوديم را به ياد مي

  كردن ثابت) 2  ، به ياد آوردنبرانگيختن) 1
  آمدنيافتن، بالا افزايش) 4  شكارگشتن            پي در) 3

  بان تخصصيزهاي تستي  سؤال   پاسخ
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 )علي شكوهي(  »2« ي گزينه -16
از پادشاه  شان هفاصلحفظ قرن چهاردهم با  زادگان اشرافكه  حالي در«: ترجمة جمله

در قدرت ) يابي به دست(از قدرت خود محافظت كرده بودند، در قرن پانزدهم راه 
  ».قرار داشتي سلطنتي  نزديكي به خانواده

  نزديكي) 2  منزل، اقامتگاه) 1
  آساني، آمادگي) 4  بيني خوش) 3

----------------------------------------------  

 )سپيده عرب(  »2« ي زينه -17
تر با او  قبل ،همان روز ،هركس كه پدر را كشته كند ميپليس گمان «: ترجمة جمله

  ».بوده است
  نپذيرفتن) 2          تكيه دادن   ) 1
  گمان كردن) 4  شناسايي كردن      ) 3

----------------------------------------------  

 )جواد مؤمني(  »2« ي گزينه -18
در بعد فضايي و زماني  واقعينسبت به دنياي  كهبه دنيايي فرضي «: ترجمة جمله

  ».گويند متفاوتي واقع شده است، جهان متناوب مي
   ، جايگزينمتناوب) 2   حساس) 1
 اوليه) 4   جذاب، عالي      ) 3

 ----------------------------------------------  

 )فرد اميد يعقوبي(  »2« ي گزينه -19
اش تصميم گرفتند  پس از با موفقيت به اتمام رساندن طرح، خانواده«: ترجمة جمله

  ».را جشن بگيرند )اتفاق(با بيرون رفتن براي شام اين 
  )به(توانا ساختن، اختيار دادن ) 1
  جشن گرفتن) 2
  كردن كردن، دلگرم تشويق) 3
   )در مورد(، بررسي كردن )در مورد(تحقيق كردن ) 4

----------------------------------------------  

 )مسعود غايبي(  »2« ي گزينه -20
ود دارند كه ، اما هنوز نكات زيادي وجموافقما اي با شم من تا اندازه«: ترجمة جمله

  ».ها مخالفم با آن
  حد، اندازه، گستره) 2  زيان، باخت) 1
  چگالي، فشردگي) 4  ، خاميسادگي) 3

----------------------------------------------  

 )نژاد حسين رحيمي(  »1« ي گزينه -21
قلبي  ةاو دچار يك حمل صبحسرانجام امرگريزناپذير رخ داد و امروز «: ترجمة جمله

  ».شد
  ، ستودنيستايشقابل ) 2  گريزناپذير) 1
  پذير سازش) 4  ساز، ناجور مشكل) 3

 ----------------------------------------------  

 )احد بهمرام(  »4« ي گزينه -22
از زمان تصرف قدرت توسط ارتش در شش سال پيش، دولت «: جملهترجمة 
  ».بوده است) برقرار(نظامي 

  هوشمندي، درك) 2  قله، نوك) 1
  تصرف، توقيف) 4  دليري، دلاوري) 3

 )فرد اميد يعقوبي(  »3« ي گزينه -23

توسط شركتي كه قطعات  ،س از اتمام تحصيلاتم در دانشگاهپ«: جملهترجمة 
  ».كرد، استخدام شدم اتومبيل توليد مي

  فروكش كردن، آرام شدن) 2  پيچيدن، پيچاندن، گرداندن) 1
   )در(كردن  روي كردن، زياده اغراق) 4  استخدام كردن، به كار گرفتن) 3

----------------------------------------------  

 )رامين نوربخش(  »2« ي هزين -24

ميلي، پسر نهايتاً اعتراف كرد كه شيشه را او شكسته  اگرچه با بي«: جملهترجمة 
  ».بود
  ، پذيرفتن)به(اعتراف كردن ) 2  خم كردن، متمايل شدن) 1
   )از(پيشي گرفتن ) 4  آرزومند بودن، شوق داشتن) 3

----------------------------------------------  

 )شهراد محجوبي(  »4« ي گزينه -25

كه اقتصاد  ) مبني بر اين(بيني دولت  تعداد زيادي از مردم با پيش«: جملهترجمة 
  » .قابل توجهي بهبود خواهد يافت، موافق نيستند طورداخلي به 

  آلودگي ) 2  ممانعت، جلوگيري) 1
  بيني پيش) 4  دارايي ) 3

----------------------------------------------  

 )سپيده عرب(  »2« ي ينهگز -26

دليل (را به هم مربوط كند  هحرف ربط داريم تا دو جمل بهجمله نياز  دراين
 Beginning(با توجه به قيد گذشته در جمله  .)»3و  1«هاي  نادرستي گزينه

in the Middle Ages (كنيم  از فعل گذشتة ساده استفاده مي) دليل نادرستي
 .كنيم استفاده مي ”gerund“از) of( ةف اضافبعد از حر). »3و  2«هاي  گزينه

----------------------------------------------  

 )سپيده عرب(  »2« ي گزينه -27

 .صحيح است »3« ةو ترتيب اجزاي جمله، گزين مفهومبا توجه به 

----------------------------------------------  

 )سپيده عرب(  »2« ي زينه -28

قبل ). »4و  1«هاي  دليل نادرستي گزينه(كنيم نه قيد  صفت استفاده مي از اسمبراي توصيف 
  ).»3و  1«هاي  دليل نادرستي گزينه(كنيم  استفاده مي ”in“هاي سال از حرف اضافة  از ماه

----------------------------------------------  

 )سپيده عرب(  »2« ي زينه -29

 ةاز فعل زمان گذشت) from 1905 to 1920(با توجه به قيد گذشته در جمله 
  ).»4و  1« هاي گزينهدليل نادرستي (كنيم  ساده استفاده مي

  ).»2و  1«هاي  دليل نادرستي گزينه(در اين جمله كاربرد ندارد  “”of herساختار 
----------------------------------------------  

 )سپيده عرب(  »2« ي گزينه -30

گردند و  در گذشته برمي مشخصيا و وقايع ياد شده در جمله به زمان ه كه تاريخ با توجه به اين
 يعني. كنيم ها استفاده مي براي آن) the(به نحوي شناس هستند، از حرف تعريف معين 

during the early 1800’s in the decades preceding the United States Civil War 
  .عبارت صحيح است
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A :هاي  اما تقريباً تمام سالن. آيي رزرو كنيم ن گردهمسال  نياز داريم كه يك
  .اند گردهمايي رزرو شده

B :توانيم  داني كه ما نمي مي. لطفاً تمام تلاشت را بكن تا جايي براي ما پيدا كني
  .تمرين را تغيير دهيم ةبرنام

A :ًو مطمئن خواهم شد كه تمام اسلايدهاي سخنراني در كامپيوتر آماده باشند. حتما.  
B :را به من بدهي تمرينو فراموش نكن كه گزارش . خوب است.  
A :رنه و من به آن رسيدگي خواهيم كرد. مشكلي نيست.  

----------------------------------------------  
  )فرد اميد يعقوبي(  »1«ي  گزينه -31

  گرفتن پس) 2  رزروكردن) 1
  كردن سرهم) 4  كردن بايگاني) 3

 ----------------------------------------------  
  )فرد اميد يعقوبي(  »3«ي  گزينه -32

  كردن به معرفي) 2  با اكراه كاري را انجام دادن) 1
  گرفتن تماس) 4  تمام تلاش خود را كردن) 3

----------------------------------------------  
  )فرد اميد يعقوبي(  »1«ي  زينه -33

  .است» طمئن شدنم«به معني  ”to make sure“اصطلاح : نكته
----------------------------------------------  

  )فرد اميد يعقوبي(  »4«ي  گزينه -34
  نگه داشتن، حبس كردن) 2  از چيزي دست كشيدن) 1
  رسيدگي كردن) 4  از قلم انداختن) 3

----------------------------------------------  
A :ها را برايم  آن. ن عكاسي نياز دارمجديد و يك دوربي ةبابا، من به يك دوچرخ
  خري؟ مي
B :وقتش كه شد. اما حالا نه. خرم ها را برايت مي آن.  

 )مرجان شيخي(  »2« ي گزينه -35
  شد كه وقتش) 2  بزنگاه سر) 1
  ها به خاطر گذشته) 4  دير  هم قدر هچ) 3

----------------------------------------------  
  رفتي مادرت را ببيني؟. يكشنبه روز مادر بود: الف
  .روزم را ساخت صدايش پاي تلفن واقعاً شنيدننتوانستم بروم ببينمش، ولي : ب

----------------------------------------------  

 )سپيده عرب(  »2« ي زينه -36
  خرج زندگي را درآوردن، گذران كردن ) 1
 ل كردن، كسي را خوشحا!روزم را ساختي) 2

  خسارت ديدن، پول از دست دادن) 3
 سخنراني كردن) 4

----------------------------------------------  
  ديشب به بن زنگ زدي؟: سيدني

 . سعي كردم پيدايش كنم، ولي تماس گرفتن با او خيلي سخت بود. بله: جان

----------------------------------------------  

 )يده عربسپ(  »2« ي زينه -37
  ملاقات كردن، موفق به ديدار كسي شدن) 1
 فهميدن) 2

  با كسي تماس گرفتن، پيدا كردن ) 3
 آسيب ديدن) 4

 )سپيده عرب(  »2« ي زينه -38

 كردن رابطه تمام) 2  موفق به تماس شدن            ) 1

  پي بردن به نيت ديگران) 4  به زور وارد جايي شدن     ) 3
 

------------------------ ----------------------  
  ايد؟  شنيدم تو و لورتا به هم زده: الف
  . اما خوشبختانه در صلح و صفا و مثل دو تا دوست از هم جدا شديم! درسته: ب

----------------------------------------------  

 )سپيده عرب(  »2« ي گزينه -39

    به چه طريق) 1
 سرپناه فراهم آوردن) 2

  ي   به خوبي و خوش) 3
  نشان دادن و رفتن  سر زدن، خود را درجايي) 4
  هاي ترافيك هوايي در آمريكا شنيدي؟ كننده آيا در مورد اعتصاب كنترل: اروناب

  . سفرمان تغيير ايجاد كنيم ةما مجبور شديم به خاطر آن در برنام! بله: آرون
----------------------------------------------  

 )ه عربسپيد(  »2« ي زينه -40

 انجام دادن) 2  كسب سود    ) 1

 تغيير دادن) 4  خود را شناساندن ) 3

----------------------------------------------  

 )مقدم روزبه شهلايي(  »2« ي زينه -41

يا قيد بعد  صفت ’that“در اين كاربرد . نقش قيدي دارد ”that“جا  اين در: نكته
در  ”that far“دقت كنيد كه. كندا توصيف مير) قيد است ”far“جا  در اين(از خود 

هاي ديگر توجه به مثال. كنداشاره مي ”five thousand miles“واقع به همان 
 :كنيد

It wasn’t that good. 
  ).نبود خوب حد آن به. (نبود خوب هم قدر آن

I don’t have that much money. 
 ).ندارم پول همه آن من( .ندارم پول مقدار آن من

She’s too young to walk that far. 
 .است) جوان( سالسن و  كم زيادي باشد، رفته دور قدر نآ كه اين براي او

I know some people left before the end, but was it really that bad? 
 بود؟ بد قدر نآ واقعاً اما رفتند، پايان از پيش مردم از بعضي دانم مي

----------------------------------------------  

 )مقدم روزبه شهلايي(  »2« ي ينه -42

  شام خوردن) 2  غذا دادن )1
  جويدن) 4  خوردن) 3

   .است» يهذمحل تغ«به معناي  ”feeding areas“تركيب 
----------------------------------------------  

 )مقدم روزبه شهلايي(  »2« ي زينه -43

    فكر كردن )2  نگاه كردن )1
  باور كردن) 4  در نظر گرفتن) 3
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 )مقدم روزبه شهلايي(  »2« ي زينه -44
استفاده  ”as many/much ….as“توانيم از ساختار  براي بيان مقايسه مي: نكته
. دهندتعداد را نشان مي ”many“و  مقدار ”much“دقت كنيد كه  ضمناً. كنيم
  .رد نداردبجا كار اين ”weigh“با توجه به فعل  ”many“پس 

  :»3و  1«هاي حيح گزينهشكل ص
1) The blue whale is the largest animal that has ever lived, 
and it can weigh the same as thirty elephants. 
3) The blue whale is the largest animal that has ever lived, 
and its weight is similar to that of thirty elephants. 

----------------------------------------------  

 )مقدم روزبه شهلايي(  »2« ي زينه -45
  بنابراين  )2  با وجود اين) 1
  صورت درغيراين) 4  با وجود اين) 3

----------------------------------------------  

 )مقدم روزبه شهلايي(  »2« ي زينه -46
  مخلوط كردن )2  فرض كردن )1
  اشتباه گرفتن) 4  نگيج كردن، اشتباه كرد) 3

----------------------------------------------  

 )مقدم روزبه شهلايي(  »2« ي زينه -47
 .است “ the+ صفت تفضيلي  , the+ صفت تفضيلي ”ساختار مورد نظر: نكته

 :هاي ديگرمثال

The better the education you have, the greater the opportunities 
you will have. 
The more I know, the better the job I will get. 
The more we saw, the less we could believe. 
The lower the rates, the more the borrowers. 
The older I get, the younger I feel. 
The smaller, the better. 

----------------------------------------------  

 )مقدم روزبه شهلايي(  »2« ي زينه -48
  حفظ كردن )2  انبار كردن) 1
  ذخيره كردن) 4  نگه داشتن) 3

----------------------------------------------  

 )مقدم روزبه شهلايي(  »2« ي زينه -49
    درازا  )2  عمق )1
  گستره، فراخي) 4  پهنا) 3

----------------------------------------------  

 )مقدم به شهلاييروز(  »2« ي ينه -50
  شناختن )2  ناميدن، صدا زدن) 1
  ناميدن) 4  مراجعه كردن، ارجاع دادن) 3

----------------------------------------------  

 )مقدم روزبه شهلايي(  »2« ي زينه -51
  .»با يكديگر در ارتباط بودن«يعني  ”to keep in touch“اصطلاح : نكته

----------------------------------------------  

 )مقدم روزبه شهلايي(  »2« ي ينه -52
    پيشنهاد دادن )2  مين كردنأت )1
  توليد كردن، ايجاد كردن) 4  به عمل آوردن، پردازش كردن) 3

 )مقدم روزبه شهلايي(  »2« ي زينه -53
   ساختن، تشكيل دادن )2  از تشكيل شدن  )1
 دربرگرفتن) 4  گنجاندن) 3

  . توجه كنيد ”consist of“در  ”of“اختصاصي  ةبه حرف اضاف
----------------------------------------------  

 )مقدم روزبه شهلايي(  »2« ي زينه -54
  طول كشيدن، باقي ماندن )2  ناشتدآرزو  )1
  دادن) 4  بازي كردن) 3

----------------------------------------------  
 )مقدم روزبه شهلايي(  »2« ي ينه -55

از گذشته شروع شده و تا زمان حال است كه بيان عملي راي بماضي نقلي : نكته
از گذشته شروع شده و در حال هم  ”inspire“در اين تست عمل . ادامه دارد
  .ادامه دارد

----------------------------------------------  
 )شهاب اناري(  »2« ي نه -56

  »كند؟ در مورد چه چيزي بحث مي عمدتاًمتن «: جملهترجمة 
  » .انسان چگونه در سرتاسر جهان پراكنده شد«

----------------------------------------------  
 )شهاب اناري(  »2« ي زينه -57

هاي زير به عنوان مشوق مهاجرت براي انسان  يك از گزينه كدام«: جملهترجمة 
  »؟گيرد نمينخستين مورد اشاره قرار 

   ».زندگي در نواحي گرمسيري«
----------------------------------------------  

 )شهاب اناري(  »2« ي زينه -58
 ”fast population growth“در خط چهارم به ”this“ ةكلم«: جملهترجمة 

   ».كند اشاره مي» جمعيترشد سريع «
----------------------------------------------  

 )شهاب اناري(  »2« ي ينه -59
محصولات كشاورزي در سرتاسر  سريع متن، گسترش  طبق بر«: جملهترجمة 

   ».اوراسيا پيامد رشد سريع جمعيت بود
----------------------------------------------  

 )شهاب اناري(  »2« ي ينه -60
دهم از نظر معنايي فدر خط ه) ذاتاً( ”inherently“ ةكلم«: جملهترجمة 
 ».است) ذاتاً( ”essentially“ترين كلمه به نزديك

 ----------------------------------------------  
 )جواد مؤمني(  »2« ي ينه -61

  »دريايي مهم است؟ هايمتن، چرا شكل خيار  اساس بر«: جملهترجمة 
  ».در برابر خطر محافظت كنند خودشانكند كه از  ها كمك مي به آن) ويژگي(اين «

----------------------------------------------  
 )واد مؤمنيج(  »2« ي زينه -62

غذايي خيارهاي دريايي  عاداتي  عمدتاً درباره) متن(بند چهارم «: جملهترجمة 
   ».كند بحث مي

----------------------------------------------  
 )جواد مؤمني(  »2« ي ينه -63

توان  خيار دريايي مي دفاعيساز و كارهاي  ةچه چيزي را دربار«: جملهترجمة 
  »نتيجه گرفت؟

   ».هاي محيطي حساس هستند بسيار به محرك ها آن«
----------------------------------------------  

 )جواد مؤمني(  »2« ي زينه -64
هاي  كه خيار دريايي اندام شود نميباعث  زيريك از موارد  كدام«: جملهترجمة 
  »اش را به داخل آب آزاد كند؟ داخلي

  »غذا«
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   16  :صفحه  منحصراً زبانمنحصراً زبان))آبانآبان  44((آزمون غيرحضوري آزمون غيرحضوري   

 )جواد مؤمني(  »2« ي زينه -65
 كه زير آن خط كشيده شده» توانش، قابليت« ”faculty“ ةكلم «: جملهترجمة 

  ».است» توانايي«به معني  ”ability“ترين كلمه به  از نظر معنايي نزديك
----------------------------------------------  

 )91 - سراسري منحصراً زبان(  »2« ي زينه -66
با ايرانيان ) در جنگ(يونان دولتي  شهرهايآتن به نيابت از ديگر «: جملهترجمة 

  ».مداخله كرد
----------------------------------------------  

 )91 - سراسري منحصراً زبان(  »2« ي ينه -67
  ».ياغي دست به اقدام زد هاي آتنيداريوش براي آرام كردن «: جملهترجمة 

----------------------------------------------  
 )91 - منحصراً زبانسراسري (  »2« ي زينه -68

  ».بخشيد) قدرت(ها نيرو  همكاري شهروندان به آتني«: جملهترجمة 
----------------------------------------------  

 )91 - سراسري منحصراً زبان(  »2« ي ينه -69
  ».به فتح يونان تشويق كنند) ايران را(خواستند  مردم دلوس نمي«: جملهترجمة 

 ----------------------- -----------------------  
 )91 - سراسري منحصراً زبان(  »2« ي زينه -70

ها توسط تعدادي از سربازاني كه از پلاتيا رسيدند،  آتني) نيروي(«: جملهترجمة 
  ».تقويت شد
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